[bookmark: _GoBack][image: 11][image: 22]
image1.png
ENRESEER M2
— SRS ABH 0IE 20 8, §H2 5, #5140 5.
15 @V soac sc Ve WC aD 9B 104
B 12A° I3A B 15.C 16D 1D ISA 194 20D
SRR A DS 0I5 S B, B3 5, #it15 5,

21.BD 228D 23.ACD. 24,800 25.4C
= EAIE RS G1F 8 B, 4T 65 5,
26.(8.9)
(&P =S (@OKMIGH B b

@GF  (OHDBE (e w





image2.jpeg
27.

28.

29:

30.

31,

32.

33.

(841)
(DSFAsH R PRGN e il
QF.Z  KEEZER 30D (HDB

(84%)

(1)#s%  RNA - (2)%#E(k [H]  C(HBREY)
3)D2B@ (4) WK B

(841)

(D fRpepis WEEE il
(Q)BEARBRFEEAR) SRR pH

3)4H 2

(4) DD

(84))

(HRFER DA

(2) BB FORRZES BRI FL A VA 2 08

(3) OHER TR AW S A RS QR ER
Qe ERBEARE

(841)

(HIE (4 8l Q)RR wm
()| MRAMRRED PD-LL  (5) FEfRGRiks
(941)

(1)4

(2)AAbD Fl aaBB QUE:HEE: AFE=1:2:1 [6)"] @173
(3)9/64  49/64

(84%)

(¥ (2) Fa g e (T) DNA 742

(3)B AXFEETE PO  CREERE ABRL

(4)ZW BRI %

— 63—

1/9




